Forensic Science Test Outline

Resources and Suggestions:
« Handouts and Labs
+ Online resources some of which are listed for
you at www.portaportal.com (sign in at guest
as dallenfs

Locard’s Exchange Principle
« Principle that states that we take something
away from where we’ve been and we leave
something behind.
+ How does this apply to criminal
investigation?

Metric System and English-Metric Conversions
4+ Metric conversions
< English — metric conversions

Medical Examiner and Coroner Systems
4« Pathology — definition
<+ Role of the Medical Examiner
+ Training of the Medical Examiner
< Role and training of the Coroner

Death Investigation and the Forensic Pathologist

0 Training and role of the forensic pathologist

<+ Manner of Death

+ Cause of Death

+ Rigor Mortis

+ Livor Mortis (Lividity)

<+ Algor Mortis

<« Calculate Time since death from body

temperature

+ Convert degrees Celsius to Fahrenheit

+ Convert degrees Farenheit to Celsius

+« Importance of the body farm (see web site)
Entomology

<« Fly life cycle

<« Importance of eggs, maggots, pupa and flies
in determining time since death

+ Estimate PMI from data on insect activity

+ Estimate ADH Accumulated Degree Hours
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Practice Problems
Metric-English Measure Conversion Problems
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Current body temperature is 88 degrees F. Solve
for time since death (PMI ‘ &
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Maggot Data Table — To determine PMI Hoveas
1. House fly larvae measure 20mm g+ 9 =10

Cheese Skipper larvae measure 8mm 10+ [ = [(
Temperature has been around 65 degrees.
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Calculate ADH using data for the Blow Fly
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. 1. Time since death is 4 hours and 15 minutes.
Solve for current body tempe ature
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1. Define T and t. Where does ADH come
from? 7T = “Tem P
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2. How many hours does it take to progress
from 1 stage larvae to 2" stage, with a >
temperature of 80 degrees F. AAX70 = 189 k
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3. What temperature would be need to progress
from pupa to adult in 4.5 days? /42 X0 = jo01®
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4. The data you have is for the life cycle of the
Blow Fly. What would you need to know if
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Forensic Science
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Helpful Tip — do these things BEFORE you give up or yell for help:

roblem Solving Strategies include
a. Ask yourself: What information am | given:
b. Ask yourself: What am | to do with it:
c. Ask yourself: What formula should | use:

Formulae: T=37-1.5t

F=1.8C+32

ADH=T*t Maggot Data Table

Formula Mind Map: Use the following table to indicate WHEN and WHY you would use each of these

formulae.
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a.
b. To convert 32 °C to degrees Fahrenheit:

C.

cycle:
To convert 90 °F to degrees Celsius:
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Which part of these equations represents heat lost per hour, after death

Which formula would you use for each of the following:
To estimate PMI or time since death: —T = 237 -/, 5

F’:

To verify an eyewitness account of the time of an event that results in death: ~T = 3 = 115+
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Which part of these equations represents PMI or time since death:

T-

To represent the amount of energy that is needed to move from one stage to another in the fly life
+-.

F=1%C+3)

To estimate time since death when a body’s temperature is 90°F:
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What are the four manners of death?
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Identify the following with the specific TOD, MOD, COD

a. Heart attack aob

b. Suffocation by hanging 40 D . i
mod - Suwicd e M‘Iﬁm»‘a&

c. Circumstance in which death is caused intentionally:
d. Circumstance in which a victim drinks too much, falls off a boat and dies:
e

Accident( mod

. Circumstance in which a person dies of a heart attack - Ma&h}n:z,l Ca_uses (mab)
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5. Work the following Problems, showing all steps. You may use the back of this sheet.

A. Body temperature of a victim is measure at B. Witnesses report hearing gunshots 80 minutes

?4.5°F. (Hint: you must convert to °C | ago. Convert to hours and estimate current bogL
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C. Abody is found in a field near a rural D. A body has maggots everywhere. Traces of

community. The ambient temperature (average heroin are found in her system. Temperature
outside temperature) has been around 55 degrees | outside has been around 80 degrees Fahrenheit.
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F. Use the larvae data below to estimate time Estimate TOD or PMI. ‘Tomf» Hewoln 4
since death — (make a claim and justify it with House fly larvae — 12mm 1y - to= ¥
data). Blow fly larvae — 23 mm % <« t2L = 8/9
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Do yoéSuspect criminal activity
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ate yourself: A. | am ready foratest B.lam almost ready C. I need more help
The type of help I need is:



